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Prefect competition is a market in which there are many firms selling identical products with no firm large enough, relative to the entire market, to be able to influence market price

Perfect Competition-Assumptions

There are a large number of firms in the industry.

The firms are usually small in size and with small market shares.

Due to their small outputs they cannot affect the whole industry output and thus are ‘price takers’.

All firms produce identical or homogeneous products

There are no barriers to entry or exit.

Producers and consumers have perfect knowledge of the market i.e. prices and products.

There is prefect resource mobility i.e. all the resources can be switched/allocated in the most profitable manner.

Perfect Competition-Revenue Curve

The right hand part of the diagram looks at the demand for an individual firm which is tiny relative to the whole market. It cannot influence price. It faces a horizontal demand ‘curve’ at £5. Average revenue is constant at £5. The firm’s AR curve must lie along exactly the same line as the demand curve. (the firm’s demand curve). Marginal Revenue will be the same as average revenue in this case. Selling one more unit at a constant price adds the amount to total revenue.

	Price
	Quantity
	TR (P X Q)
	AR (TR/Q)
	MR

	rs5
	1
	rs5
	rs5
	rs5

	rs5
	2
	rs10
	rs5
	rs5

	rs5
	3
	rs15
	rs5
	rs5

	rs5
	4
	rs20
	rs5
	rs5


As price is constant, total revenue will rise at a constant rate as more is sold. TR curve is a straight line through the origin. When a firm is a price taker its AR & MR curves are a horizontal line at the given price.

In prefect competition, the industry will face normal demand and supply curve i.e. demand curve slopes downwards and supply curve is upward sloping. The reason being suppliers are willing to supply more at higher prices and consumers are willing to buy more at lower prices. Thus the price in the industry is the equilibrium point.

In prefect competition, a firm is price taker, thus it has to adopt the prevalent price in the industry.

The reason being, if they increase their price then the consumer will switch to another firm as the all the firms produce homogenous products and moreover, consumers have perfect knowledge of producers who can supply goods at lower prices.

The demand curve for a firm in perfect competition is perfectly elastic because a firm can sell any quantity at the industry price.

The diagram given below, illustrates that a firm in perfect competition derives its price from the industry price.
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Due to the fact that a firm does not have to reduce its price in order to sell more, its MR= AR which is equal to P or D

Profit Maximisation
Profit maximisation level of output for a firm is where MC=MR
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Short run profit in Perfect competition

In the short run, a firm in perfect competition can make abnormal profits. It may be due to some cost advantages due to technological changes or some production innovation. This means the firm will be covering more than the economic cost (total cost + opportunity cost)

The diagram below illustrates that firm is producing at Q which is the profit maximisation level of output (MC=MR).

At this output the firms Average Cost (AC) is at C and its Average Revenue is at P, thus leading to abnormal profit for the firm P-C. (Shaded blue region)
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Short run losses in Perfect competition

There may be cases, when a firm may not be able to cover its Total cost due to some inefficiency in their production process. As the diagram below show the firm is producing at Profit Maximisation level of output (MC=MR), its AC is C which is more than its AR (at P), thus leading to a loss C-P (Shaded in blue).
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Profit maximization in the long run

Moving from short run abnormal profit to long run normal profit

As we know that there are no barriers to entry  in a perfectly competitive market, the moment a firm starts making abnormal profits, more firms will be attracted by that and will start entering the industry. This will lead to an increase in supply, which will lead to a fall in industry prices.

The firm is a price taker and thus prices for it will also fall and the demand curve will shift downwards.

And in the long run its abnormal profits will vanish and the firm will have normal profits only.
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As we can see in the diagram above, the industry price is P and the firm takes its price from the industry price. The firm is making abnormal profits by producing at q (Profit Maximisation level) and is having an abnormal profit P-C.

Now look at the industry graph, more firms are attracted, which results in a increase in supply (shift of supply curve from S to S1). This leads to a lower in the industry price to P1. The firm has to take this price P1 and its demand curve shifts downwards i.e. D1=AR1=MR1
At this point the existing firms will not leave the industry as they can cover their economic cost and new firms will stop entering the industry as there is no more abnormal profits. The industry has reached long term equilibrium.

Moving from short run abnormal profit to long run normal profit

In the short run a firms in a perfectly competitive market might make losses. In this case the firms will start shut down as there is no sunk cost. The supply in the industry will go down pushing the prices up and the firms will start making normal profits in the long run.

Looking at the firm diagram below, we see the firm producing at profit maximising level q is making a loss (C-P)as its AC is above the AR.  However, as more and more firms start leaving the industry the industry supply curve shifts to the left to S1. This raises the price in the industry. Due to the fact that the firm is a ‘price taker’ it will lead to the upward movement of firm’s demand curve from D to D1 resulting in reduction of losses. The process will continue firms in the industry are making losses.
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The industry has reached its long term equilibrium where no more firms will enter or exit the industry and all the firms will be making normal profits

Long Run
In the long run a firm in a perfectly competitive market will be make normal profits.
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The firms produce at q which is the profit maximising level of output.

Firms make normal profit as AC is equal to AR 

Advantages of perfect competition

· P = MC; Production is at minimum AC; only normal profits will be made in the long run. No supernormal profits, so consumers gain from low prices.

·  If consumer’s tastes change, the resulting price change will lead firms to respond. An increase in consumer demand will call forth-extra supply.

· Perfect competition is said to lead to consumer sovereignty. Consumers through the market determine what and how much is to be produced. Firms cannot manipulate the market.

· They cannot control price. The only thing they can do to increase profit is to become more efficient, which also benefits the consumer. If a firm is efficient it will earn supernormal profits (in the short run).

· Competition between firms acts as a spur to efficiency. There is no point in advertising as all the products are the same.

· The desire for supernormal profits and the desire to avoid a loss will encourage the development of new technology.

Disadvantages of perfect competition

· Firms may not be able to afford research and development. Investment may be considered a waste of money, as one’s rivals will copy new production techniques. The product is homogeneous.

· The lack of variety is a disadvantage to the consumer. Under monopolistic competition and oligopoly there is often intense competition over the quality and design of the product. This can lead to pressure on firms to improve their products. This doesn’t exist in perfect competition. There is therefore a lack of competition over product design and specification.

Price Determination under Monopoly
Monopoly is that market form in which a single producer controls the whole supply of a single commodity which has no close substitute.
 

From this definition there are two points that must be noted:

 

(i)                 Single Producer: There must be only one producer who may be an individual, a partnership firm or a joint stock company. Thus single firm constitutes the industry. The distinction between firm and industry disappears under conditions of monopoly.

(ii)               No Close Substitute: The commodity produced by the producer must have no closely competing substitutes, if he is to be called a monopolist. This ensures that there is no rival of the monopolist. Therefore, the cross elasticity of demand between the product of the monopolist and the product of any other producer must be very low.

 

PRICE-OUTPUT DETERMINATION UNDER MONOPOLY:
A firm under monopoly faces a downward sloping demand curve or average revenue curve. Further, in monopoly, since average revenue falls as more units of output are sold, the marginal revenue is less than the average revenue. In other words, under monopoly the MR curve lies below the AR curve.

 

The Equilibrium level in monopoly is that level of output in which marginal revenue equals marginal cost. The producer will continue producer as long as marginal revenue exceeds the marginal cost. At the point where MR is equal to MC the profit will be maximum and beyond this point the producer will stop producing.
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It can be seen from the diagram that up till OM output, marginal revenue is greater than marginal cost, but beyond OM the marginal revenue is less than marginal cost. Therefore, the monopolist will be in equilibrium at output OM where marginal revenue is equal to marginal cost and the profits are the greatest. The corresponding price in the diagram is MP’ or OP. It can be seen from the diagram at output OM, while MP’ is the average revenue, ML is the average cost, therefore, P’L is the profit per unit. Now the total profit is equal to P’L (profit per unit) multiply by OM (total output).

 

In the short run, the monopolist has to keep an eye on the variable cost, otherwise he will stop producing. In the long run, the monopolist can change the size of plant in response to a change in demand. In the long run, he will make adjustment in the amount of the factors, fixed and variable, so that MR equals not only to short run MC but also long run MC.

 

COMPARISON OF PRICE DETERMINATION UNDER PERFECT COMPETITION AND MONOPOLY:
The key points of comparison of price determination under Perfect Competition and Monopoly is as below:

 

	Perfect Competition
	Monopoly

	(i) The demand curve or average revenue curve is perfectly elastic and is a horizontal straight line.
	(i) The demand curve or average revenue curve is relatively elastic and a downward sloping from left to right.

	(ii) The firm is in equilibrium at the level of output where MC is equal to MR. Since in perfect competition MR is equal to AR or price, therefore, when MC is equal to MR, it is also equal to AR or price at the equlibrium position, i.e., MC=MR=AR (Price)
	(ii) The firm is in equilibrium at the level of output where MC is equal to MR.

	(iii) In equilibrium position, the price charged by the firm equals to MC.
	(iii) In equilibrium position, the price charged by the firm is above MC.

	(iv) The firm is in long-run equilibrium at the minimum point of the long-run AC curve.
	(iv) The firm is in long-run equilibrium at the point where AC curve is still declining and has not reached the minimum point.

	(v) The firm is in equilibrium at the level of output at which MC curve is rising, and is cutting MR curve from below.
	(v) The firm is in equilibrium at the level of output at which MR curve is sloping downwards, and MC curve is cutting it from below or above. (See figure 1)

	(vi) In the long run, the firm is earning normal profit. There may be super normal profit in the short run but they will be swept away in the long run, as new firms entered into the industry.
	(vi) The firm can earn abnormal or supernormal profit even in the long run, as there is no competitor in the industry.

	(vii) Price can be set lower at greater output in case of constant-cost and decreasing-cost industries.
	(vii) Price is set higher and output smaller by the monopolist. (See Figure 2)
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 PRICE DISCRIMINATION IN MONOPOLY:
Price discrimination may be (a) personal, (b) local, or (c) according to trade or use:

 

(a)   Personal: It is personal when different prices are charged for different persons.

(b)   Local: It is local when the price varies according to locality.

(c)   According to Trade or Use: It is according to trade or use when different prices are charged for different uses to which the commodity is put, for example, electricity is supplied at cheaper rates for domestic than for commercial purposes.

 

Some monopolists used product differentiation for price discrimination by means of special labels, wrappers, packing, etc. For example, the perfume manufacturers discriminate prices of the same fragrance by packing it with different labels or brands.

 

Conditions of Price-Discrimination: There are three main types of situation:

 

(a)   When consumers have certain preferences or prejudices. Certain consumers usually have the irrational feeling that they are paying higher prices for a good because it is of a better quality, although actually it may be of the same quality. Sometimes, the price differences may be so small that consumers do not consider it worthwhile to bother about such differences.

(b)   When the nature of the good is such as makes it possible for the monopolist to charge different prices. This happens particularly when the good in question is a direct service.

(c)   When consumers are separated by distance or tariff barriers. A good may be sold in one town for Re. 1 and in another town for Rs. 2. Similarly, the monopolist can charge higher prices in a city with greater distance or a country levying heavy import duty.

 

Conditions making Price Discrimination Possible and Profitable: The following conditions are essential to make price discrimination possible and profitable:

 

(a)   The elasticities of demand in different markets must be different. The market is divided into sub-markets. The sub-market will be arranged in ascending order of their elasticities, the higher price being charged in the least elastic market and vice versa.

(b)   The costs incurred in dividing the market into sub-markets and keeping them separate should not be so large as to neutralise the difference in demand elasticities.

(c)   There should be complete agreement among the sellers otherwise the competitors will gain by selling in the dear market.

(d)   When goods are sold on special orders because then the purchaser cannot know what is being charged from others.

 

Price Determination under Price Discrimination:
(i)                 First of all, the monopolist divides his total market into sub-markets. In the following diagrams, the monopolist has divided his total market into two sub-markets, i.e., A and B:
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(ii)               The monopolist has now to decide at what level of output he should produce. To achieve maximum profit, hence, he will be in equilibrium at output at which MR=MC, and MC curve cuts the MR curve from below. In the above diagram (c) it is shown that the equilibrium of the discriminating monopolist is established at output OM at which MC cuts CMR. The output OM is distributed between two markets in such a way that marginal revenue in each is equal to ME. Therefore, he will sell output OM1 in Market A, because only at this output marginal revenue MR’ in Market A is equal to ME (M1E’ = ME). The same condition is applied in Market B where MR” is equal to ME (M2E” = ME). In the above diagram, it is also shown that in Market B in which elasticity of demand is greater, the price charged is lower than that in Market B where the elasticity of demand is less.


	Price discrimination
Price discrimination is the practice of charging a different price for the same good or service. There are three types of price discrimination – first-degree, second-degree, and third-degree price discrimination.
First degree

discrimination, alternatively known as perfect price discrimination, occurs when a firm charges a different price for every unit consumed.

The firm is able to charge the maximum possible price for each unit which enables the firm to capture all available consumer surplus for itself. In practice, first-degree discrimination is rare.
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Second degree

Second-degree price discrimination means charging a different price for different quantities, such as quantity discounts for bulk purchases.

Third degree

Third-degree price discrimination means charging a different price to different consumer groups. For example, rail and tube travellers can be subdivided into commuter and casual travellers, and cinema goers can be subdivide into adults and children. Splitting the market into peak and off peak use is very common and occurs with gas, electricity, and telephone supply, as well as gym membership and parking charges. Third-degree discrimination is the commonest type.

Necessary conditions for successful discrimination

Price discrimination can only occur if certain conditions are met.

1. The firm must be able to identify different market segments, such as domestic users and industrial users.

2. Different segments must have different price elasticities(PEDs).

3. Markets must be kept separate, either by time, physical distance and nature of use, such as Microsoft Office ‘Schools’ edition which is only available to educational institutions, at a lower price.

4. There must be no seepage between the two markets, which means that a consumer cannot purchase at the low price in the elastic sub-market, and then re-sell to other consumers in the inelastic sub-market, at a higher price.

5. The firm must have some degree of monopoly power.  

Diagram for price discrimination

If we assume marginal cost (MC) is constant across all markets, whether or not the market is divided, it will equal average total cost (ATC). Profit maximisation will occur at the price and output where MC = MR. If the market can be separated, the price and output in the relatively inelastic sub-market will be P and Q and P1 and Q1 in the relatively elastic sub-market.
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When the markets are separated, profits will be the area MC, P,X,Y + MC1,P1,X1,Y1. If the market cannot be separated, and the two submarkets are combined, profits will be the area MC2,P2,X2,Y2.
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If the profit from separating the sub-markets is greater than for combining the sub-markets, then the rational profit maximizing monopolist will price discriminate.

Market separation and elasticity

Discrimination is only worth undertaking if the profit from separating the markets is greater than from keeping the markets combined, and this will depend upon the relative elasticities of demand in the sub-markets. Consumers in the relatively inelastic sub-market will be charged the higher price, and those in the relatively elastic sub-market will be charged the lower price.

Footnote

In the above example we are assuming that the price at which consumers in the relatively elastic sub-market (students, for example, looking to travel into a major city) are prepared to enter the market is lower than those in the relatively inelastic sub-market (commuters, for example). This gives the combined demand (AR) curve an outward kink, and the combined MR curve a discontinuous portion (indicated by the vertical dotted line.) If, however, both types of consumer are prepared to enter the market at the higher price then the combined demand (AR) curve is simply shifted further to the right, and will not have the kink. This is illustrated in the diagram below:
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In all cases it should be noted that that profit maximisation must occur where MC = MR. This means that profit maximising equilibrium for the discriminating monopolist must occur where MR is positive, which means that, irrespective of the gradient of the demand curves in the submarkets, the price will always be set in the elastic portion of the demand curve (individually, and when combined).

Monopolistic Competition


Price and Output Determination in Monopolistic Competition

Monopolistically competitive industries are made up of a large number of firms, each small relative to the size of the total market. Thus, no one firm can affect market price by virtue of its size alone. But firms differentiate their products, and by so doing gain some control over price.

Product Differentiation and Demand Elasticity
Perfectly competitive firms face a perfectly elastic demand curve for their product because all firms in their industry produce the exact same product. A monopolistic competitor faces a downward-sloping firm demand curve. This type of curve is based on the notion that the firm can change its price without losing all of its business because buyers do not see any perfect substitute. The fewer the substitutes (i.e., the more product differentiation), the less elastic the demand curve will be. The difference is illustrated in the figure below:
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A monopolistic competitor, in the short run, is like a monopolist because it is the only producer of its unique product. But unlike a monopoly, the monopolistically competitive firm faces competition from other firms producing good substitutes for its product.

Price/Output Determination in the Short Run
Since the firm has a downward-sloping demand curve, it will also have a downward-sloping marginal revenue (MR) curve. A profit-maximizing firm produces where marginal cost (MC) equals marginal revenue (q0 in the graph below) and charges the price determined by demand (P0).
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In panel (a) of the figure, the monopolistic competitor will make a profit. However, like a monopoly, a monopolistic competitor is not guaranteed to make a profit in the short run. The firm may make a loss in the short run; its profitability will depend on the demand. This is shown in panel (b).

To more fully understand price and output determination in monopolistic competition, try the following Active Graph exercise:


	Price and Output Determination in the Long Run


The action in a monopolistically competitive market occurs when the market moves to the long run. Since other competitors selling a similar good can enter the market, two changes will occur:

· Firm demand will decrease.

· Firm demand will become more elastic.

As more firms enter the market, the demand for any one firm will decrease, since the firm is now sharing the market with other firms.

A decrease in demand implies a leftward shift in the demand curve. Since the entering firms are producing substitutes for the existing firm’s good, the demand for the existing good will become more elastic. An increase in elasticity implies the demand curve is getting flatter. By combining these effects, as a monopolistically competitive market moves from short-run profits to the long run, the firm’s demand curve will move to the left and get flatter. Furthermore, the demand curve will continue to move until there are no more firms entering the market. Firms will stop entering the market when profits are zero.

[image: image17.png]»

Long
fend

Unisorouput MR




This occurs when the demand curve just barely touches (i.e., is tangent to) the ATC curve, as shown in the figure above. Once the demand curve is tangent to the ATC curve, the profit-maximizing price is equal to the average total cost, and thus, profits are zero. In the long run, competition will drive monopolistically competitive markets to make zero profits. The goal of the firm is to try to maintain as much short-run profit as possible by differentiating its product. Eventually, though, in the long run, economic profits will be zero.

If a monopolistic competitor is losing money in the short run, the opposite holds true. If the market is not profitable, firms will leave as the market moves towards the long run. When firms leave, there are fewer substitutes, so demand becomes more inelastic and increases since market demand is split up among more firms. The demand curve keeps getting steeper and moving to the right until it is tangent to the ATC curve, where profits become zero and no other firms want to leave the market. (This would occur at point A in panel (b) of the earlier figure.)


Selling Cost

Nature of Selling Cost:

The nature of selling cost can be known on the basis of what cost contains. The selling cost includes the following things. 

1. Cost of Advertisement:

Publicity of goods is made through newspaper, magazines, radio, TV, indoor display etc. Advertisements are of two types.

A. Informative Advertisement: This kind of advertisement spreads information regarding goods. It provides information to the customers regarding the products. Customers can make their choices more rational particularly in products like scooter, motor car, refrigerator, TV, etc.

B. Competitive Advertisement: This kind of advertisement is made with a view to persuading the customers to buy certain type of products. In advertisement of soap, shampoo, etc there is an element of persuasion of the customers rather than providing information.

2. Cost of Canvassing

Selling cost includes the cost of selling campaign, home to home canvassing by salesmen or sales girls, sale of free samples and specimens, exhibition of products  in fairs, expo. Etc.

3. Commission of Dealers

Commission is given to dealers/agents etc which is included in selling cost. It includes discount coupon scheme, gift or price schemes, free services, after sale service etc.

Production Cost & Selling Cost:

Cost of Production:

Meaning: cost of production is that which is made to produce goods.

Example: cost of changing raw material to finished goods, cost of producing the goods and the cost of making it available to the customers (transport & freight etc.) in the market.

Importance: production cost affect supply of goods and it creates supply according to demand.

Selling Cost:

Meaning: selling cost is the cost for creating demand for the produced goods.

Example: cost of promoting goods, cost of advertisement, commission to dealers included in selling cost.

Importance: selling cost affect demand of goods and it creates demand according to supply.

Effects of Selling Cost on Demand Curve: 

Selling cost affects demand curve in two ways:

1. Selling cost changes the place of the demand curve. This means that it causes it to move towards right side.

2. Selling cost changes the shape of the demand curve. This means that it changes the elasticity of demand. Thus it changes demand curve by making it either more elastic or less elastic.

1. Selling cost changes the place of the demand curve.

If the producer tries to persuade the customers through advertisements to prove that its products are superior, demand of that product may increase at the current price because customers may change their preferences. They may stop using certain product they have been using and start using newly advertised products. 

Before selling cost was made:

Demand Curve = D-D1

Price = OP        Demand = OM1

After selling cost was made:

Demand curve = D-D2

Price = OP

Demand = OM2
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2. Selling cost changes the shape of the demand curve.

A. It makes demand curve more elastic: Sometimes producer or seller tries to increase demand by reducing their price. This price reduction is announced through the advertisements. Due to announcement of price reduction demand increases more than the actual act of price reduction.
Earlier: 

Price = P2

Demand = OM

Price reduction without advertisement:

Price = P1

Demand = OM1

Demand curve = D-D1

Price reduction with effect of advertisement:

Price = P1

Demand = OM2

Demand curve = D-D2
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B. It makes demand curve less elastic

Sometimes the customers are accustomed to use certain products due to the use of a product for a long time. They are not going to change their preference.

Before selling price

Price = P

Demand = OM

After price increment

Price = P1

Demand = OM1

Demand curve = D-D1

After price increment with effect of advertisement

Price = P1

Demand = OM2

Demand curve = D-D2
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Oligopoly:

Definition: Oligopoly is an imperfect competition in which few firms make production and produced goods are closed substitute. However these things are not perfect substitutes.

George Stigler defines oligopoly as follows, “It is the condition of market in which the firm frames its pricing policy on the basis of assumed conduct of its close rivals.” 

Features:

1. Small number of sellers and producers.

2. Products homogeneous or product differentiation

3. Producer determines the quantity of production

4. The seller may determine its price

5. Kinked demand curve

6. Interdependence

7. Firms have conflicting tendencies

8. Non price competition is preferred

9. Price determination in special way

Kinked Demand Curve:
Assumptions:

1. There is an established price of commodity in an industry that all firms are satisfied with it.

2. The attitude of each firm depends upon the attitude of a rival firm.

3. If a firm tries to increase its selling by reducing the price other firms also follow this move and in this way they oppose the price reduction.

4. If any firm increases price, other firms do not follow it.

5. Marginal cost curve passes through the two sections of marginal revenue curve.

Explanation of price determination

Price determined = OP

Sale = ON

Kinked demand curve = D-A-D1

Point A determines price

If firm increases price:

More elastic demand part = D-A

Sale is decreased = OC

If firm reduces price:

Less elastic demand part = A-D1 
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Marginal productivity theory of national income:

Assumptions:

1. Assumption of perfect competition

2. All factors of productions are completely mobile

3. Assumptions of stable society

4. Homogeneous units of factors

5. The factors of productions are divisible

6. The condition of perfect employment

7. The existence of law of diminishing return

8. Producers behave rationally and intellectually

Law of Marginal Productivity of Distribution “According to the law of marginal productivity each factor of production gets return according to its marginal productivity.”

Explanation of Law:

In the figure OX shows units of labor while OY marginal productivity and wages are indicated, MP curve is the diminishing curve of labor which shows marginal productivity

According to given situation the total supply of labors in economy is ON and marginal productivity is PS. Therefore wage rate becomes equal to marginal productivity that is NS=OW. This is called balanced wage rate.

Now wage rate increases OW1, marginal productivity reduced to ON1.

If wage rate decrease OW2 marginal productivity increased to ON2.
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Limitation of principle:

1. Unrealistic assumption of perfect competition

2. All units of factors are not homogeneous

3. Factors of production are not completely divisible

4. All factors of production are not perfectly mobile or  portable

5. Unrealistic assumption of stable society

6. The neglect of the law of increasing return

7. One sided principle

8. Production is a result of combined efforts

9. Impossible to measure the marginal productivity of a factor

10.  Decrease in wage rate does not result in increase in employment

11. Neglect of price determination of factor for the short run

12. It does not explain price determination of factors

RENT:

Difference between Economic Rent and Contract Rent


In the modern economic literature, all the factors of production such as land, labor, capital and entrepreneur are assumed to earn rent. This concept of rent is the economic rent which is defined as the excess amount over the transfer earnings that is paid to the owner of the factors. Whereas in the practical sense, the term contract rent refers to the gross payment to the owner of the factors in exchange for their use. Thus, the most significant difference between economic rent and contract rent is that economic rent concerns with economic meaning of rent whereas contract rent concerns with the practical meaning of rent.

Economic Rent:


 It is the modern use of the term rent which recognizes the alternative uses of the factors. Unlike the classical concept of the land rent, it posits that all the factors of production can earn economic rent. The economic rent is defined as the surplus or excess of the payment over and above the minimum required amount to keep the factors in its current use. In other terms, economic rent is the excess of payment over the transfer earnings of factor. The transfer earning is the price of the next best use of the factor that results from the alternative uses. It is called transfer earnings because it would transfer elsewhere from the present use if not paid the necessary payments. So, the transfer earning is the minimum necessary amount to keep the factor in its present use or occupation. It is aka transfer cost or opportunity cost. 
The implicit assumption here is that the factors are always in the best manner. Unlike the classical view, this modern view considers the supply of land, for example, from the perspective of industries (or uses) and individual farmers/producers i.e., from the micro perspective. So, for the individual producer the transfer earnings are similar to any other cost of production. Hence, hence at least that portion of the payment which is transfer earnings enters into the cost of production.

Contract Rent:


 The contract rent is what we usually practice in our day-to-day life. Sometimes, it is referred to as the gross rent. It is the actual payment made to the owner of the factors. It is just like the periodical payment to the owner of the house, owner of machinery and equipment, owner of land, or the likes. The contract rent is determined by the agreement between two parties - owner and renter - and includes the economic rent, transfer earnings and other improvements to the factors. These improvements, undertaken by the owner of the factors, take place in the form of capital expenditures. The rewards for these improvements in the form of interest rewards for the capital expenditures undertaken by owner of factors are, thus, included in the contract rent. As to land, such improvements could be the expenditures incurred by the landlord in hedges, drains, wells and likes.

Ricardian Theory of Rent


It is a classical theory of rent propounded by the Ricardo and limits the concept of rent as a land rent.  In Ricardo’s words, “Rent is that portion of produce of earth which is paid to the landlord for the use of the original and indestructible powers of the soil.” It means that Rent is the reward for the use of only land i.e., land rent. Any return on the improvement costs in the form of capital investments has to be deducted to obtain the price for the use of only land or price for the use of the ‘original and indestructible power of soil’. That means returns on the improvement costs should be deducted from the contract rent, which is the gross payment to the landlord. Ricardo views the supply of land from the perspective of society as a whole and given. So, it is scarcity that gives rise to the land rent; had there been no scarcity of land, no such thing as land rent would exist. This theory rests on the following premises:

Supply of land is perfectly inelastic or fixed because he views it from the standpoint of a society as a whole.

    Land is only used to produce ‘corn’ or otherwise is left idle. This means that land do not have alternative uses and, therefore, nil transfer earning.

    Land differs in quality in respect of fertility and location: Some land are more fertile than other due to such factors as nature of soils, rainfall, and other climate  factors; while some land are well located near the market center where the produce is sold.

    Perfect competition in the land market: Large number of land owners who are willing to rent their lands and large number of farmers/producers who are willing to hire lands.

 Operation of the law of diminishing returns in the production.

Given the assumptions of the theory, land rent emerges mainly due to the scarcity of land. When the units of land are homogeneous, land rent arises due to the scarcity of homogeneous land; when the units of land are not homogeneous, land rent arises due to scarcity as well as difference in the quality of lands.

Scarcity Rent


As long as the demand for land is smaller than the supply of land (no shortage of land), there will not surplus payment over cost of production (labor and capital) because price of produce equals the long run average cost of production (labor and capital) in the perfectly competitive market.  


Accordingly, there be no land rent because there will be plenty of lands to meet the increased demand for land. The demand for land is the derived demand in that it results from the increased demand for produce, which again results from the increased population. The sequels are: increase in population, increase in demand for produce, increase in the price of produce, and increase in the demand for land by the producers.  Producers are induced by the higher profit due to increased price of produce. The increased supply of produce by using more lands reduces the price to its initial state, and no more surpluses exist. Only if the there exist a shortage of land i.e., scarcity of land exists, the land rent emerges. 



There will be no more lands to meet the increased demand for land, and accordingly price of produce remains higher and creases the surplus. Of course, the output also increases to some extent by employing more doses of labor and capital which could offset the increased price but does not restore to its initial state, rather the operation of law of diminishing returns tend to increase the cost of production. The land that results from the scarcity of land is called scarcity rent. 

Differential Rent


In reality, land differs in terms of fertility and location i.e., there are different classes of lands –some are superior while other inferior. Superior land yields produce at the smaller cost (because of the high fertility and low transportation costs) than the inferior land. So, the differential rent occurs due to the scarcity of the superior land and differences in the productivity of the various kinds of lands. Differential rent is of primary importance to Ricardo because it drops out the unrealistic assumption of homogeneity of lands. If the scarcity of the superior land would not have existed, there would be nothing such as land rent. On the contrary, scarcity of the superior land results in the land rent or differential rent. The derived demand for the land is addressed either through the extensive cultivation, in which inferior class of land is brought under cultivation, or through the intensive cultivation, in which more doses of labor and capital is used in the same plot of land.


As the price of produce increases up, it will be possible to bring the inferior land under cultivation. Marginal land or no rent land is the one which equalizes the price to the average cost of production and earns on surplus at all. That is, marginal land just covers the cost of production (labor and capital) to be it worthwhile to bring an inferior land under cultivation.  Intra-marginal lands (all categories of land excluding marginal land), on the other hand, earn surplus because of the lower average cost than the price of the produce. The rent earn by the intra-marginal land is obtained by deducting the average cost from the price gained by the marginal land because margin of extensive cultivation equalizes the price of produce. The size of surplus depends on the average cost of production i.e., superior land earns more surplus as compared to the inferior land. When done the intensive cultivation, average cost of production raise up due to the operation of law of diminishing returns and, as a result, the surplus also continuously decreases. The land rent is obtained by deducting the average cost from the price obtained by the margin of intensive cultivation because margin of intensive cultivation equalizes the price of produce. But in practice both the intensive and extensive cultivation are brought under cultivation jointly.


In this way, rent is solely determined by the price of produce or demand conditions for lands but price determining in the Ricardian theory. Also note that the land rent is not the part of the production cost, it is rather a superfluous or surplus payments.

MODERN THEORY OF RENT


According to them, the Ricardian theory of rent is too closely related to land. This creates on impression that rent is a peculiar earning of land only. The fact, however, is that other factors of production i.e., labor, capital and entrepreneurship may also be earning economic rent. The determination of rent, the modem economists say, can be explained in the same manner as the reward of other factors, that is by demand and supply forces.


The modern economists like Pareto, Mrs. Joan Robinson, Boulding, Stigler, Shepherd, have tried to simplify and generalize the Ricardian theory of rent, According to them, the Ricardian theory of rent is too closely related to land. This creates on impression that rent is a peculiar earning of land only. The fact, however, is that other factors of production i.e., labour, capital and entrepreneurship may also be earning economic rent. The determination of rent, the modem economists say, can be explained in the same manner as the reward of other factors, that is by demand and supply forces.

Demand and supply analysis


Demand for a factor. The .demand for a factor which may be land, labour or capital is a derived demand. Land, say for instance, is demanded for its produce. The higher the produce, the greater is the demand for land. A firm will pay rent equal to the marginal revenue productively of land. The rent diminishes as more land is used due to the operation .of law of diminishing returns. The demand curve of a factor is, therefore, negatively sloped which means more land will be used only at lower rents, other things of course remaining the same.

Supply of a factor


The supply of land,to a particular use (say industry) is quite elastic. It can be shifted to other uses by offering higher rent than that being earned by it now. The supply of a factor (to an industry) is, therefore, rent elastic. If higher rent is paid, the supply of a factor can be increased by withdrawing it from other uses. The supply curve of a factor (industry) slopes upward to the right.

Determination of rent


The economic rent is determined by the intersection of demand and supply curves for a factor. In this figure (19.2), the demand curve for a factor say labour in a particular industry is DD’ and the supply curve of workers is SS’. The wage rate or factor price of labour as workers employed in a particular industry at OW wage rate is OL. The total earning of the workers employed is equal to the area OWEL. At wage rate OW, there are workers who would work at lower pay but they are also paid at OW wage rate. Those workers whose transfer earnings are less than this wage rate will be getting economic rent The total economic rent earned by all the intra marginal workers is equal in the area WES. The marginal worker i.e., Lth worker is not obtaining any rent or surplus.

[image: image23.jpg]o L
Fig. 19.2 Workers Employed
Economic Rent of Workers




Rent is a surplus return. The modern economists are also of the view that rent as a surplus can be earned by other factors also. It is not peculiar to land alone as explained by Ricardo. The modern theory of rent is that it is the difference between the actual earning of a factor unit over its transfer earnings. The transfer earnings of a factor of production is the minimum payment required for preventing that factor for transferring it to some other use. It is called the factor supply price 01 its present occupation. For example, a worker earns Re. 6000 per month in a factory. In the next best employment, he can get Rs. 5000 only per month. The surplus or excess of Rs. 1000.0 which a worker is earning over and above the minimum payment necessary for inducting him to work in the present occupation is the economic rent.


Economic rent depends on the elasticity of supply of the factor of production

The proportion of the income of’ a factor that consists of economic rent depends on the elasticity of supply of the factor of production which may be (1) totally inelastic supply (2) perfectly elastic supply and (3) less than perfectly elastic supply.

(1) Perfectly elastic supply. When the supply of a factor of production is perfectly elastic, then none of its income is economic rent. Its entire income is transfer earnings.
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Perfectly elastic supply fig.19.3Perfectly elastic supply fig.19.4

In the Fig. 19.3,, the s,upply curve SS’ is a horizontal line. Whatever the amount of nature of rent. factor demanded, the supply price remains at OS. Hence, it earns no surplus in the

(2)  Totally inelastic supply. When the supply of a factor is totally inelastic, then its transfer earnings is zero. The entire income is economic rent. In fig. 19.4, the elasticity of the supply of factor of production is zero. It does not increase at all as its demand increases. The supply curve is vertical. The entire factor income is a surplus which is shown by area ONST.

(3)  Less than perfectly elastic supply. If the supply of a factor of production is neither perfectly elastic nor perfectly inelastic as illustrated in fig. 19.5, then some part of the factor income is economic rent and the other part is transfer earnings. In Fig. 19.5, the supply curve SS’ of a factor, say labour, is positively sloped. A firm must pay at least OS price to attract OL units of labour-to the given use. If supply of a factor is to rise,•the factor must be paid higher and higher wages to attract more units. The demand curve DD’ (measuring the marginal revenue product of the labour) interests the supply curve at point R. Now at OT equilibrium price, ON ‘units of labour are demanded and supplied. Since all the units of the factor upto ON are paid the market price OT, the intra margihal units earn surplus above their supply price. The. marginal unit i.e. Nth is not getting any rent. Here the total income of the factor is equal to the area OTRN. It is made up of its economic rent-equal to the area STR and its transfer earnings equal to the area OSRN.
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The concept of Quasi rent was introduced in Economics by Dr. Alfred Marshall. This concept is used for the surplus earned by man-made factors other than land. Certain man-made factors become scarce in the short run. The surpluses earned by using these factors go to constitute Quasi rent.


According to David Ricardo Kent arises because of the fixity in supply of land. Rent is the price paid for the use of land. Land being a free gift of nature has no cost of production. That is why what it earns constitute rent. Thus the cause of paying rent is the inelasticity supply of land, lese are other factors other than land which are to be found in fixed supply. The supply of land is permanently fixed but the supply if other man-made factors are fixed in the short period. In case if land fixity in supply, is permanent but in case of other factors fixity is temporary.

THE CONCEPT OF QUASI-RENT


Quasi-rent is a term in economics that describes certain types of returns to firms. Quasi-rent differs from pure economic rent in that it is a temporary phenomenon. They can arise because in the short-run potential competitors face barriers entry. They can also arise due to government intervention, such as the granting of patents or other legal protections for intellectual property.

The concept of Quasi rent was introduced in Economics by Dr. Alfred Marshall. This concept is used for the surplus earned by man-made factors other than land. Certain man-made factors become scarce in the short run. The surpluses earned by using these factors go to constitute Quasi rent.


According to David Ricardo Kent arises because of the fixity in supply of land. Rent is the price paid for the use of land. Land being a free gift of nature has no cost of production. That is why what it earns constitute rent. Thus the cause of paying rent is the inelasticity supply of land, lese are other factors other than land which are to be found in fixed supply. The supply of land is permanently fixed but the supply if other man-made factors are fixed in the short period. In case if land fixity in supply, is permanent but in case of other factors fixity is temporary.


Thus in short period the supply of both lands other factors is fixed and inelastic. The additional income earned these factors in; the short-run is similar to Rent. Marshall coined rent as Quassi Rent. Thus quasi rent is the short run earnings a machine minus the short run cost of keeping it in running order


Quasi rent accrues to the man-made machines during short period. It is a short run surplus. It disappears in the long run. In short period due to excess demand for the capital equipment is rent arises. It disappears in the long run because the supply such capital equipments increase in response to increased demand. Specific capital equipment has no alternative use and it remains fixed in the short period even if its income becomes zero.

As the transfer earning of the capital equipment in the short run is zero, the whole of the earnings of the machinery in the short period are surplus over transfer earnings. In the long run the supply of man-made factors can be increased to meet the increased demand.

As a result of increased supply the excessive earnings will disappear. In the long run, therefore the competitive equilibrium is attained when the earnings from the capital equipment are just sufficient to keep them in running order. Thus in the long run no surplus over cost of production is earned by the capital.


Dr. Marshall explained the concept of quasi rent in another context. In long run the price of the commodity must cover prime cost and supplementary cost. In the long period the price must cover both the costs, otherwise the firm will leave the industry. The firm can bear the loss so long as it covers the prime cost in the short period.

Thus prime cost is minimum cost below which the price should not fall. According to Marshall Quasi Rent will emerge if the price of the product exceeds the prime cost in the short period. 
The Quasi Rent is measured by the extent of price over the prime cost in the short period Thus Quasi-Rent = Price - average prime cost (Average variable cost).

In the diagram, price OP is equal to AR and MR as there is perfect competition. AVC, ATC and MC curves represent average variable cost, average total cost and marginal cost.


At OP price Dint of equilibrium is 'E' where MC = MR. At this equilibrium it output is OM. Here AVC is FM and price is EM (OP). EF 4E-FM) is the quasi rent per unit of output. The total quasi rent measured by shaded rectangular EFGP. It is worth noting that firm is incurring losses as ATC curve lies higher than price OP Supposing OP price falls to OP1 level and the new equilibrium is attained at point E1 where MC=MR. Price covers only the variable cost. Here price = AVC. As there is no surplus over variable cost, no quasi rent arises. In such a case OP1 price is the minimum price at which firm produces output.


Thus in short period the supply of both lands other factors is fixed and inelastic. The additional income earned these factors in; the short-run is similar to Rent. Marshall coined rent as Quassi Rent. Thus quasi rent is the short run earnings a machine minus the short run cost of keeping it in running order


Quasi rent accrues to the man-made machines during short period. It is a short run surplus. It disappears in the long run. In short period due to excess demand for the capital equipment is rent arises. It disappears in the long run because the supply such capital equipments increase in response to increased demand. Specific capital equipment has no alternative use and it remains fixed in the short period even if its income becomes zero.


As the transfer earning of the capital equipment in the short run is zero, the whole of the earnings of the machinery in the short period are surplus over transfer earnings. In the long run the supply of man-made factors can be increased to meet the increased demand.

As a result of increased supply the excessive earnings will disappear. In the long run, therefore the competitive equilibrium is attained when the earnings from the capital equipment are just sufficient to keep them in running order. Thus in the long run no surplus over cost of production is earned by the capital.

WAGES:

Definition Remuneration either in cash or kind or in both to a labourer engaged in production for the physical or mental work partially or fully is known as wage in Economics.

According to the modern theory of wage, wage is determined by the demand for the supply of labour. Therefore, the theory is known as the demand and supply theory of wage. Demand for labour is affected by the technique of production, prices of other factors and marginal productivity of labour etc.

Supply of labour depends on the factors like size and age structure of population, nature of the work, environment, tradition, work leisure ratio etc. under perfect competition where demand for labour equals the supply of labour i.e. where demand curve and supply curve cut each other becomes the equilibrium point and wages are determined accordingly.


Wage differences in different occupations and industries are due to difference in ability, lack of mobility and opportunity, presence of non competing groups, nature of employment future prospects, scope for extra earnings and the impact of trade unions etc.


Wages may be paid either in cash or in kind. If wages are paid in terms of money, wages are called nominal or money wage. It wages are paid interms of goods (necessaries, comforts and luxuries) wages are called real wages. Real wages are influenced by value of money, extra earnings additional receipts in kind, working hours, working conditions, regularity of employment, nature of the job, future prospects and occupational expenses etc.


Cost of using labor as opposed to cost of using capital or land. As a price of labor, it is subject to the forces of demand and supply in the labor market, which in turn is affected by productivity levels and ability of the employers to substitute labor with other factors of production such as machinery. 

Real Wage: 10 factors that determines real wage

Real wage refers to the purchasing power or buying capacity of money wage. It is the amount of necessaries, comforts, and luxuries which the worker can command in return for his remuneration. Thus real wage is expressed in terms of goods and services. It is the amount of goods and services or benefits that a worker enjoys against of his job. The real wage is said to be high when a laborer obtains larger quantity of goods and services with his money income.

Factors determining Real Wage:

(1) Purchasing power of money: Purchasing power or value of money determines the real wage. If the purchasing power of money is high purchasing power of money depends on price level. If price is high purchasing power of money falls and real wage declines.

(2) Additional facilities: Besides money wages, a work gets certain other benefits in his job. If such benefits are more besides his money income, his real income is more. For example a worker gets free housing, free education of his children, free medical service other than his monthly salary. In such a case his real wage is higher.

(3) Extra income: The extra income of a worker is also taken into consideration in calculating the real wage of a laborer. If a worker earns extra Income in addition to his wage, his real wage will be higher. A school teacher earns as a private tutor and the income he earns is subsidiary to his main income from teacher ship. In such a case his real wage is more.

(4) Condition of work: The working condition of a laborer also determines his real wage. If the duration of work is less and there is recreational facilities, place of working is well ventilated, well lighted, the real wage will be certainly higher.

(5) Nature of Job: Real wage also depends on the nature of the job. The real wage is lower if the job is temporary. If the job is permanent, his real wage will be more. A temporary job is more or less insecure. There is possibility of being retrenched. Thus if a worker earns more but his job is temporary, his real Wage is not higher.

(6) Period and expenses of learning a trade: The period and the money expenditure also determine the real wage. If period of study and training and cost of learning the job are high, the real wage of the worker is said to be falling. Thus the real wage of a clerk in the administration is higher than the real wage of a-doctor.

(7) Nature of work: The real wages are also determined by the risk and uncertainty involved in the work. If the work is risky, real wage will be lower. For example a captain in submarine always expects danger and risk. He receives higher wages but in spite of his higher wage his real wage is lower.

(8) Future prospects: The real wage is said to be higher in those jobs where there is possibility of promotion and other future prospects. But where jobs are traditional and static, there is hardly any chance of promoting to higher position, the real wage is said to be lower.

(9) Social prestige: Those jobs which have higher social prestige ensure a higher real wage. Here the status the job is important. For example a lecturer in non-aided private college gets a very poor salary but as the job is prestigious, his real wage is more.

(10) Timely Payment: Real wage is also determined by timely payment of wages. If the wage is regular and timely the real wage of the worker is higher although his income is pretty less. But in the jobs where payment of salary is irregular, untimely and untired, real wage is said to be lower.

Monetary wage and Real wage:

	SIMILARITIES

	
	MONETARY WAGES
	REAL WAGES

	1
	The worker gets it as a return for his physical and mental sevices
	The worker gets it as a return for his physical or mental services

	2
	Only cash returns are considered
	Cash return are also considered

	3
	It changes with person, occupation, place and time
	It changes with person, occupation place, and time 

	DIFFERENCES

	1
	Purchasing power of money is not considered
	Purchasing power of money is considered

	2
	Perquisites are not considered
	Perquisites are considered

	3
	The concept ia absolute
	The concept is relative

	4
	It does not indicate the true economic conditions of the worker
	It indicates the true economic condition of the worker

	5
	Few factors contribute in determine the monetary wages
	Many factors contribute in determine the real wage

	6
	Workers are not much interested in monetary wages
	The workers are interested in real wages

	7
	Example: the salary of rs 3500 paid to a clerk in monetary wages
	If a clerk gets Rs. 3500 cash pay +purchasing power of the money+perquisties can be real wages.


Interest:    Meaning & Definition of Interest:

In today’s capitalist industrial system the most important factor of production is capital. The owner of the capital receives the return for the use of his capital. This return is called interest. Therefore, in modern capitalist economic system, along with the concept of capital, the problem of interest becomes very important.

In ordinary transactions, when a borrower borrows money, he pays the interest on the amount he has borrowed from the lender as agreed upon. This payment is called interest.

Various economists have defined interest in various ways. It is as follows:
1. Prof. Sellingman says, “Interest is a return from the fund of capital.”

2. Prof. Knut Wickesell says, “Due to productivity of capital, the owner of capital gets the return for renouncing or obtaining from capital.”

3. Prof. Meyers says, “Interest is the price which is paid for the loanable fund.”

4. Prof. Carver says, “Interest is the income which goes to the owner of the capital.”

5. Prof. Marshall says, “The return that is paid by the borrower to the lender for the use of his capital for the fixed time is called interest.”

6. Prof. Keynes says, “Interest is the price paid for parting away with liquidity for a certain period of time.”

Types of Interest:


Based on nature of interest, interest is divided into two parts:

1. Gross Interest

2. Net Interest

1. Gross Interest:

A. Net interest: Net interest is the payment made to the owner of the capital considering the productivity of the capital. The net interest is included in average gross interest.
B. Insurance against risk: When the owner of the capital lends this capital, he takes risk. Therefore he must get some amount for taking risk besides net interest. Therefore this includes the risk for lending the money besides gross interest. Prof. Marshall divides risk into two parts:
1. Individual risk: When a person lends money, there is a risk involved whether he would have desire, honesty and capacity to return money in future.
2. Trade risk: The borrower may be honest but the industry in which he invests in his money may be risky. Considering these risks involved in trade, business or industry, the money lender charges some more interest in addition to net interest.
C. Payment for inconvenience: After investing his capital the capital owner has to undergo certain inconveniences. He cannot use the money for fulfilling his own wants. Therefore, he has to obtain from the present use of money and pass through certain inconvenience.
D. Reward for management: Once the capital owner decides to invest his money, he has to manage everything right from lending of investing money to receiving the capital back. He has to keep accounts of the amount, the principal as well as interest, to receive the amounts of interest at stipulated periods of time and finally to get the principal amount back.

Thus, Gross interest =Net interest + return for risk + return for inconvenience + reward for management.

2. Net Interest:The reward or return paid to the owner of the capital for the productivity of the capital is called net interest. This interest is usually very little because it does not include other returns. Thus, the return which is paid to the owner of the capital without calculating other costs or return for risk, inconvenience and management, it is called net interest.
Factors affecting Interest:

1. Real & Non-Monetary Factors:

Self restraint: Prof. Senior says, “Interest is a reward for self-restraint.” This means that the factor affecting interest is self-restraint.
Waiting: Prof. Marshall says, “It is not abstinence or self-restraint but waiting that determines the rate of interest.”
Time preference: The factor that affects interest rate is time preference also. This view was presented by two economists Bohm Bewark and Irving Fisher.
Prof. Bohm Bewark says that people underestimate future and this affects the rate of interest. Prof. Irving Fisher says that eagerness of the people to spend money is called the time preference.

Demand for capital & supply of capital: Classical economists like David Ricardo, Walrus, and Marshall etc. believe that demand and supply of capital determines the rate of interest. 
2. Monetary Factors:

Liquidity preference: Prof. Keynes says, “People’s liquidity preference is a factor determining the rate of interest.” He says interest is a return for foregoing liquidity preference for a certain period of time.
Demand for credit stock & its supply: Prof. Knut Vixal & Gunnar Myrdal believes that demand for credit stock is determined by the supply of loanable stock. According to them when demand for loanable stock of money and supply of loanable stock of money are equal, the rate of interest is determined at that point.
3. Other Factors:

Marginal efficiency of capital:  Marginal efficiency of capital is a possibility of maximum net return to be availed by the producer from investing one more unit of capital in production.
Monetary policy of central bank:  The function of the central bank is to maintain stability in economy. So, to fulfill it, proper monetary policy is implemented.
Supply of money: When the supply of money is more than the real demand of the country, the rates of interest go down. When there is more demand than supply, the rates of interest increases. 

Profit:

Nature of Profit: Among the four factors of productions, an entrepreneur is a special type of factor.
1. Profit is non-contractual and uncertain income: Land, Labor and capital have contractual incomes that are fixed in advance while the incomes obtained by entrepreneurs in the form of profit are non-contractual and uncertain.
2. Profit can be both positive and negative: The returns availed by land, labor and capital is always positive, while return obtained as profit can be either positive or even negative.
3. Profit fluctuates more than incomes of other factors: Market price does not affect land, labor and capital as fast as it does to entrepreneurship. Profit being connected with market price, it changes with the changes in the market price. As it is not contractual, it changes any time.
Principles of Profit:

1. Profit is the result of entrepreneurial efficiency: Some economists believed that all land is not equally fertile. Fertile land gets due to its fertility. In the same way, all entrepreneurs are not equally competent. Due to the difference in efficiency, the efficient entrepreneur gets more profit as rent. Thus profit is a result of entrepreneurial skill or competence.
2. Profit arises due to exploitation of the laborers: Entrepreneurs gains profit at the cost of the labors. Therefore the profit is a direct result of the exploitation of the laborers.
Prof. Hawley’s Risk Theory of Profit: What entrepreneur gets as a payment for risk and bearing is profit. This means that business involves risk and profit is the return for risk bearing.

Prof. Knight’s Uncertainty – Bearing Theory of Profit: Profit is a reward for uncertainty bearing. This means that entrepreneur gets profit on account of uncertainties he has to face in his business.

Prof. J. B. Clark’s Mobility Theory of Profit: Profit is a result of continuous change in society. In a static society, no profit can arise. This concept explains why profit arises in changing society.

Prof. Schumpeter’s Innovation Theory of Profit: Prof. Schumpeter interprets dynamic changes as innovations in methods of production. Therefore, he says profit is a reward for innovations or research.

Market Imperfection & Profit: On the basis of prevalent competition, we can divide market into two types:Perfect Competition Market: In perfect competition, in short run, entrepreneurs get super normal profit but in long term they can get normal profit only.

Imperfect Competition Market: The forms of imperfect competition are monopolistic competition, monopoly, duopoly and oligopoly. In imperfect competition producers can earn more profit than perfect competition.

Monopoly & Profit:Chamberlin says, “The cause of extra normal profit in monopoly is obstacles to entry.”Prof. Matchlap says, “The cause of the rise of profit is the hardship they experience in entering the industry.”Prof. Kaleky says, “The proportion of profit depends on the extent of monopoly of the commercial firms. The more the monopoly, the higher the profit. The less the monopoly, the less the profit. 
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UNIT 1:Pricing analysis: I


 Equilibrium and pricing of firm and group of short run and long run under perfect competition.


 Monopoly – types, equilibrium and pricing of firm, multiplan monopoly pricing and equilibrium of firm during different time perspective.








UNIT 2 Pricing analysis – II


 Price discrimination, types, conditions/possibility, profitability, evaluation of price discrimination


 Monopolistic competition, equilibrium and pricing of firm and group during short and long period under monopolistic competition, excess capacity, evils








UNIT 3:Pricing analysis – III


 Selling costs – nature, inter-relationship of production cost and selling cost, effects of selling cost on demand curve. 


Oligopoly – definition, features, kinked demand curve and price rigidity








UNIT 4:Distribution of national income – I


Mariginal productivity theory of national income, Modern theory of rent – quasi rent,


 Wage – monetary and real wage, factors affecting realwage, wage determination under perfect competition and monopoly


Interest – meaning, definition, gross & net interest, factors affecting interest.,


Proft – Nature, principles of profit – rist, uncertainty, dynamic, market imperfection monopoly.














PAGE  
22

